MAC 2312 (Calculus IT)
Test 1, Thursday September 28, 2006

Name: PID:

Remember that no documents or graphing calculators are allowed during the test. Be as precise as
possible in your work; you shall show all your work to deserve any of the points assigned to any question.
You will not get any credit by just writing down the answer to any of the problems. Do not cheat, otherwise I will
be forced to give you a zero and report your act of cheating to the University Administration. Good
luck.

1. [50] Computation of integrals; exact value shall be provided for each integral.

a)filx(l_xz)dﬂ?= f‘ 3 2 y S P
- = H-F Ty

=1

b]f1|2$—4ldx—£flx 21dx + ’ZI’X 2 |k
= 2{ (2-%) ofz—t 2,( (““1)0
= =(2- x)j W ("'2)]

o+ | + 22—

e W

) . T S 0 =
'\"‘xx Z__:_ S-(M%_ Si

“woq

c) ffooszdz: =

il 2 — (%€
) ffe+reyiz= St T Jo 2



[ =

Sﬁ;’ L= m: C{(A: 3 olx

54 Z7’{2/ ﬁ( .
e)f”"'%—ﬁ:{ = 2u] =200 =2

s, f 2V
W‘: o%wu PN “é’
L = 2 ?k{»( oy )

X -~ =
IW:ZVT"‘;‘ %(\JE—-VT):%((«“):Q_

dxﬁ] tan(3 + In(4 + ¢2)) d¢ =

L’ Lo (34 Lo+ x2)) by FTc2

w3

g)ﬁyg-secmtanmdx: fecx 70 — Sec¢ ..?: w e s = & S { == (

G .
h)fﬁf.r= ,VlrJ — |1,U(;——|\«t oo lb\(
{
W o :
& o o o
) [£esc?zde= — Cxt "‘T“A: ——Coi—.\_»_;__ -+Ca9'hq- - -0 ( {

éaa_,&‘v\ 5



9
v
do o | e L, 2 (2. _ 19
4 fo“/o[ ““}3 R ‘ZI-E_—-[B?-—]I—T—
Skt A =B ol = fomel

2. [35] Evaluate the indefinite integrals. Te buler (o L'.jlm how l’ﬁ' {P““‘Lf
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3. [15] a) State the first part of the Fundamental Theorem of Calculus (FTC1). b) Thoroughly explain whether or not
the FTC1 may be used to evaluate each of the integrals (do not attempt to evaluate these integrals): bl) fuﬂ mr{):—i—}gm,
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